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Resource E: Risk Assessment for   Example Swish Event    

	Risk assessment by:      Mrs A. Swish

	Date:    1 Jan 2015

	There is a risk that…
	...which could result in...
	Impact
(A, B, C, D)
	Likelihood of injury 
(1, 2, 3, 4)
	Ways to reduce the risk of injury

	A clothing rail or mirror could fall over onto someone
	Injuries to staff or general public e.g a bruise or cracked bone
	B
	2
	Leave a reasonable space between rails so they do not get pushed over whilst browsing. Make sure mirrors are secure, or put warning signs in place.

	People may trip, slip or fall over items of clothing left on the floor
	Injuries to staff or general public e.g. a strain/sprain or broken bone
	B
	2
	Ask helpers to regularly check the floor to ensure items that are dropped are dealt with quickly.

	One of the organisers may hurt themselves lifting and carrying items
	Injuries to staff or general public, particularly to back, shoulders or wrists
	B
	2
	Ensure helpers understand correct manual handling procedures. Encourage helpers not to lift anything they feel is too heavy and team lift where necessary.

	Someone attending could get really angry and be threatening
	Organisers or helpers getting distressed or being hit
	D
	2
	The event rules are well publicised, how the event works is explained clearly to everyone who attends and there are several helpers around at all times to help each other deal with anyone who gets angry

	There could be a fire at the venue
	
	
	
	Ask the people responsible for the venue about fire risks and emergency procedures


Risk Assessment scoring:
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	Severe
	A
	
	
	
Unacceptable 
level of risk

	Significant
	B
	
	
	

	Moderate
	C
	
	
	
	

	Minor
	D
	
	
	
	

	
	
	1
	2
	3
	4

	
	
	Very Unlikely
	Unlikely
	Likely
	Very Likely
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	Agreed and accepted by: (print name):                                                
	On:
                                               
	   Sign:
                                                 


Risk Assessment scoring:

	Severe
	A
	
	
	
Unacceptable 
level of risk

	Significant
	B
	
	
	

	Moderate
	C
	
	
	
	

	Minor
	D
	
	
	
	

	
	
	1
	2
	3
	4

	
	
	Very Unlikely
	Unlikely
	Likely
	Very Likely


IMPACT





LIKELIHOOD





IMPACT





LIKELIHOOD











www.getswishing.com


